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PHYSICS (Theory)

9 : 3 HoeT | [ qoris : 70
TF 95 %0 & Wik n Jegd fagd R € | 975 g= 9 fAifa gel Jea vefed 81T —
&) nefeo @  2e/co M) 2ne/co & =
n electric dipoles are placed inside closed surface. Total electric flux through the closed
surface will be -
(a) ne/co (b) 2eleo (¢) 2ne/eo (d) zero
nﬁr&rﬁa SITET FeT~ HXell & —

aﬂiﬂé’gﬁaﬁ (@) aa g &3 (9) g Ud gREa™ &3 M1 (3) Igd vd gRa™ &89 aF H
e |

Moving charge produces - '

(a) Only electric field (b) Only magnetic field (c)Both electric and magnetic field

(d) None of'the electric and magnetic field.

% arfiery &1 egmad) IRuY ¥ uIgdiE 4 TR § | gRuy # gRT &7 R A9 ® -

(@) 4 TR @) 8 U () av2 R (3) 242 UfumR

The reading of an ammeter in alternating circuit is 4 ampere. The maximum value of
current in circuit will be -

(a) 4ampere (b) 8ampere (C) 42 ampere (d) 2v2 ampere

f 3 & 39 W ¥ faga geEeE T T E —

@ Mem T @) AEHs T (F) e fafde @ @\ &
Which of the following wave is not electromagnetic wave -

(a) Radiowave (b) Microwave (C) Ultraviolet radiation (d) Sound wave
I ¥ YT &1 AT 3x10° #10 /90 2] 1.5 UKD ATt e 5 WepTeT &1 aTel a7 BT ?

The speed of light in air is 3x10"m/s. What will be the speed of light in a glass of refractive
index 1.57

UHTE F YHE R GGl § ST 819 el Soiagl B 997 HEd B 7
What are electrons emitted due to effect of light called ?

YR T YT g7 ?

How will the mass number of a radioactive material change when one o pamcle 1s
emitted from its nucleus ?

SifTex &1 Yo 3 g sr%wm‘r@zﬁmwﬁmwﬁr@m

Write the name of maximum used material in the construction of transistor.
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18.

T 81 B THS ¥ e FATg &) T b 36 W 1.0x 107 FeATH BT & ST I8 T2 2
How many electron should be removed from a piece of metal so that 1.0x10” coulomb of
positive charge isleftonit ?

T T FHAAYS TRER U §EN ®] $IC §dhd 8 ¢ 390 GHHAEY | 2
Can two equipotential surface intersect each other ? Explain it.

R,, R,@en R yfeRie & o9 arere! &1 #1oft 9 3 SireT 147 § | o UKk 1 & ST BIfoTy |
Three conductors of resistance R, R, and R, are connected in series. Find the formula z
for equivalent resistance.

wsﬁaﬁﬂg‘ahlo“%/@ozﬁaﬂﬁfﬁmﬁ e / UER HIeY & gEa g 85 § JRad Y9 Bl 5
2 | gelggMl & gaTER AN @) ST 9ig Sy ? "
An electron beam, with speed 3x10° m/sec enters perpendicularly in a magnetic field of
4—;,\(105 N/ampere-meter. Calculate the radius of path of electron beam.

T SRT-gRueff # RT I @ SNgRT gao U U7 UfTeTa o7 SR Ui A gRadd are
BT &g | 2
Using graph show the variation of inductive reactance and capacitive reactance with
change in frequency of source in alternating current circuit.

Th Ieard) SiIBER & Weafs dor fGiiad dusiedl & R & |1 HAE 100 g 400 & | ufe
ureifi Busel # 120 dlec YA [AMaT=oR ST ST Y SITd HITY — 2
(1) oR AR ()  fExiu® grsdl ¥ I diec

In a step up transformer the number of turns in primary and secondary coils are 100 and
400 respectively. If 120V alternating voltage applied across the primary coil. Then
find:-

(a) Transformationratio (b)  Voltage across secondary coil

foele g T Wagd ¥ way 1 71 W4 B a7 <ef &1 qRA1 & A qared | 1+1=2
Name the wave with maximum and minimum wavelength in electromagnetic spectrum .
GHTY b YOT ARG Uiads @ 2 (T | 2
Write the conditions for total internal reflection. '

gierar (OR)

HTf~Tas HIOT Y TRATST SIRTY | T8 JIegH @ SFUad-ic d Hif~dd HIoT H Free forfu |

Define critical angle. Write relation between critical angle and refractive index of denser
medium.

i Ruaes # 7= & 71 14 © el 21 gl & 7 folay | 1+1=2
What is the function of a moderator in nuclear reactor. Write the name of two
moderators.

Jizrar (OR)

T Rugey # F=® o2l &1 71 &Rl & ? 4 B deg9 o & 9l I918 offell 8 ?

What is the function of controlling rods in nuclear reactor ? Why these rods are made of
cadmium only ? _

U ATSford TR o1 ATHH ATATH 10 dlee TIT ~YHaH HATATH 2 dlee & | AIgel Yelbich F97 8T 2 5

The maximum and minimum amplitude of a modulated wave is 10 volt and 2 volt
respectively. What will be modulation index ?
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e B & SIF Ml # U g1 Td G@T BIT 8 | s el 1 enfe 1o il ? §HiR gee e

B STRET BT AT W BT, afs IHH) it & Fed Iufter A &1 widgais K 2 | 1+2=3

There are two metal spheres one small and other large. Which sphere will have more
capacity ? Derive formula for the capacity of parallel plate capacitor if a medium of
dielectric constant K placed between the plates of capacitor.

yeaTadt oRT gRRuy § wifad  oar ey € ? geigy & L-C-R uRuy § gfa agfea sitaa wifda &g

P=V_x1_xcosg B, &l @ HAT HIVT & | 142=

What do you mean by power in alternating current circuit. Show that in L-C-R circuit
average power loss per cycle is given by P=V,_ x1,_.x cose where g is phase angle.
24 Vowlo Gsha 3T dTel radel U B HAT 3 HOH0 B g3 W Y WA IE1 8 | eI &
yfcferg a1 Rexfel S BIRAT |
A candle is placed at a distance 3 cms from the concave mirror of radius of curvature 24
cms. Find the position of the image of the candle.

grerar (OR)
30 YoHlo Tehan F3roaT aTer ST UV B HIH 20 HOHI0 BT 31 WX U 9% ¥ & | avg & uferfarg o
fReffer SITeT BT |
An object is placed at a distance 20 cms from the convex mirror of radius of curvature 30
cms. Find the position of the image of the object.

ThTIT IR B AIIHROT & AT FIT AT & 2 T U faren Afdenor 8q 3avad Il Bl Seoid

3

2

P | 142=3

What do you understand by interference of light waves. Write the conditions for the
constructive and destructive interference.

T B ey 140 f&F B | Wil B 16 UH A H W 15 UH B fqEe fha wHg A B
ST ?

Polonium has a halflife of 140 days. In how many days 15 gms polonium out of 16 gms
will decay.

3

LY

faedt OR gate &1 @i Wi, gfera wioid a2 wear 9Relt yeffa ey | 1+1+1=3

Give logic symbol, boolean expression and truth table of OR gate.
derar (OR)

feeft AND gate &1 @ifiTs Udlids, forda @oie aet Aar AR gafia 1feg |
Give logic symbol, boolean expression and truth table of AND gate.

pnp ¢ifeRex &1 ulue forg 2e0ied | p-n 9 Srate ¥ smfefRie # g yare uikue Eiuss adqrsd |

Draw circuit symbol of pnp transistor. Explain using circuit diagram, the flow of current

in p-n junction diode in forward biased. 1+2=3

Je4ar (OR)
npn gifSRex &1 gy forg <wigd | p-n JfY SIS & gwafelRe & anT yare aRuer Wieey
|
Draw circuit symbol of npn transistor. Explain using circuit diagram, the flow of .
current in p-n junction diode in reverse biased.
fHd f TR e @ 9 A I9¥d B W B 81 qANIRY 7

What are three basic elements of any communication system. Explain ?
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28.

29.

30.

Bl ATRT W M9 FAT FHSK 2 7 UBIY g UHIE B [IET BT Soeid SIS | 1+2=3
What do you understand by cut off frequency ? Mention laws of photo electric effect.

derd uRuer & forg forvait & Q1 FIH! T Soeid BT qell S9! HErIe ¥ {6l Eeve o &
AT B BT |F P/Q=R/S Feu1fad P el Aebal Bl Ay 3ef & | fawaardt fobw figr o
Bl FRAT R | 2+2+1=5
Write Kircchoff’s both rules for electrical circuit and using them derive balance wheat -
stone bridge formula P/Q=R/S. Where symbols have their usual meanings. On which
principle potentiometer works.

grerar (OR)
Hex Vg F1 Rigr uRuy foF 37 FEr © G9egd | g96] Ferd ¥ (B deid f yfawe $4
o B ? el O & effad favary 9 feddes 90 9 ww o1 3 oy |
Explain the principle of meter bridge using circuit diagram. Using it how will you find
resistance of conductor ? Write down the formula for the relation between terminal
voltage and emfofthe cell.
FUIcHH TS FgiT arel ) garl &7 IETeR ST | Y—grda $ At sfaual o gasmsa
T 5T 3T H FrweT U BT | 1+2+2=5
Give an example of magnetic material with negative magnetic susceptibility. Explain
different components of earth magnetic field and establish relation between them.

sierar (OR)
AN g BT 2ol [ARaY | TRAR &1 gkl a9 @21 2 ? vgeR & uRuefly {4 &1 S9aT a3
T A= TS B A gRIATed T & SRV 30 DY &3 T A WU BT |
Write the expression for Lorentz force. What is Ampere circuital law ? Using Ampere’s

circuital law derive expression for magnetic field produced by a current carrying
conductor of infinite length.

MWW@WW?{#W%WQ@——E- twﬁﬁﬁﬁﬂmmugaﬁmﬁﬂ‘rs
T AT 372 B | o

Deriverelation 7.~ ;= ~g  forrefraction of light on spherical convex surface, where
symbols have their usual meanings.

gt (OR)
ﬁﬂﬁﬂ?ﬁﬂaﬂﬂawwma%maﬂﬂa%m?ﬁf— -==
BT A 3 B |

n 1 n—1
Deriverelationy — | g for refractlon of light on spherical concave surface, where
symbols have their usual meanings.

——=X==X--X—
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